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n i=1%i
(BR0=2 W=TA) Gt \/auxO(X’X) Ly,
Ohgo=el 0=5R2)  f+ta \/5—5(1 2o (X))
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(0:” X—”—]:” —iﬁ—) i ;ﬁ:EZTEE;S:E;E;Bz{i}} value of x® for prediction is :

X, =3,X;=2& [l BUSXI=? > xo s H]
~ PPN [1,] , 1 F'n:-Enl: Prediction of y given x8 is :
YO =X OB —4.25 E:% ; [[4.25]]
h
— [1 3 2] 1-5 7Y a:E,l]
2 [1,] 4.25
.
= 4.25
14.75 -3.5 -=5][1
(HZU=O = 24) 0F =Faxo(X'X)1x, = (0251 3 21[ —355 11 ”g] = 0.6875
— 1 2

(HEUZS HEQX 24 02 =35(1 + x'o(X'X)1xy)

14.75 -3.5 -=5][1
=(025)(1+[1 3 2] [ =35 1 1 ] [2]) = 0.9375
-5 1 2 3

(BR0I=2| 95% H=22H Vo tta, , \/agx'O(XfX)—lxo = 4.25 + (12.706)(0.829) = [—6.285, 14.785]
2)

(HZOIZSI 95% O =72 Vot b, Jau(l + xo(X'X)1xy) = 425 + (12.706)(0.968) = [8.049, 16.549)]

> sigesge-0. 25% (1+T (x0)%*%xpxinvi*%x)

= sigesq
1,] o géj';]S Variance of Individual Predicition Error is :
N E,r-i E-.:i—sfr‘t(S'i esq) Stand Error of Individual Predicition is : 5
- S'ige q g9esq t-critical value of t Distribution w. df= 1 is : 12.786284736432095
’ [,1] Lower Value of 95% Individual Predicition Interval is :
! Upper Value of 95% dividua ‘redicitio Brva ig -
[1,] 0.9682458 Upper Value of 95% Individual Predicition Interval i

> yhat+c(-1,1)*qt (. 975, 1)*sige
[1] -8.05273 16.55273



(B20=2 95% MI=+2)

v

v

v

v

OHE =2 95% ol = +721)

v

Call:
TIm(formula = v ~ w2 + x3)

Resziduals:
1 2 3 4
-0.25 0.25 -0.25 0.25

Coefficients:
Estimate Std. Error t value Pr(=|t])

(Intercept) -4.2500 1.9203 -2.213 0.270
x2 1.5000 0.5000 3. 000 0.205
x3 2.0000 0.7071 2. 828 0.216

Residual standard error: 0.5 on 1 degrees of freedom
Adjusted R-sguared:

Multiple R-squared:
F-statistic:

0.9091,

5 on 2 and 1 DF, p-value: 0.3015

= coanfint{ols)

2.5 &% 97.5 %
{Intercept) -28.649553 20.149553
2 -4,853102 7.853102
®3 -5. 984644 10.934644

= resid{ols)
1 2 3 4
-0.25 0.25 -0.25 0.25

» predict {Im(y-x2+x3))
1 2 3 4
1.25 0.75% 2.25 2.75

= new<-data. frame(x2=3, x3=2)
= predict{Im{y~x2+x3), new, se.fit = TRUE)
5Fit

1
4,25

Sse.fit
[1] 0.8291562

sdf
[1] 1

Sresidual.scale
[1] 0.5
= pred.w.clim<-predict{(Im{y~x2+x3), new, interval
= pred.w.clim
fit Twr upr
1 4.25 -6.285428 14.7B8543
» pred.w.plimz-predict (Im(y~x2+x3), new, interval
> pred.w.plim

fit Twr upr
1 4.25 -8.05273 16.55273
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